K. How to identify direct and partial variation from an equation
15. For each of the following equations, identify the relationship as being direct or partial.

s y=2x-5 parha
b. y=—x+2 parhd |
c. y=35x direct

d y=5x+0 direc)
e. y=200—x part

f. y=52+ %x purha

L. How to identify direct and partial variation from a table
16. For each of the following tables, identify the relationship as being direct or partial.

\

a. Ot ( ia .‘ b. Al t.— YZe L G: I Yo Flcl
X y X y X Y
0 19 -2 8 1 0
1 16 -1 £ 2 5
2 13 0 0 3 10
3 10 1 -4 4 15
4 7 2 -8 D 20

M. How to calculate first differences

17. For each of the following, determine whether the relationship is linear or non-linear without graphing.

& |ineal b | inear ¢ non - lineay

X y X y X y

0 19 K-3 4 385 el g 0 1 5

1 16 [ - 8 300 [Se 3 4 Ks
P ) / RN ) / J

2 13 . T 12 44.7 NG l_ 6 9 B }l‘
7 ’ o, Db 7

3 10 [K . 16 503 [0, 9 16 |

4 7 [ = 20 EEg (o™ 12 5 !

N. Putting it all together (Rule of 4)
18. For each of the following situations, write an equation, draw a graph, and create a table of values.

a. You are visiting Montreal, and a taxi company charges a flat fee of $3.00 for using the taxi and an
additional $0.75 per kilometer.
=0, 5% +3

b. A plumber charges a fee of $40 to make a house call. He also charges $15 an hour for labour.
N =19x 44O

c. Bethand Liz are starting a business tutoring students in math. In one month, they rent an office that
costs them $200 and charge $25 per hour per student.
V= oy ~200

d. Amanda is tracking the progress of her plant’s growth. When she purchases the plant, it is 7cm high, and
it grows 2cm per day.
N = 22X+

e. Aplane is taking off at a rate of 2000 feet per minute.
\j = 2000 X

f. A 750ml bucket has a hole and is leaking water at a constant rate of 5ml/s.

= —5x% £750
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